Assignment 5
» Have a scenario on( one sample t test )
* Identify sample and population
* Extract information
» Write hypotheses
* Interpret results
Example One-Sample T-Test * Make a conclusion

Scenario: A school claims that the average score of students in a mathematics test is 75.
However, a researcher believes that the actual average score might be different from this
claimed average. To test this, the researcher collects a random sample of 20 students and
records their test scores. The sample mean score is 72.5, and the sample standard deviation is
8.The researcher then performs a one-sample t-test to determine if the mean test score in the
sample is significantly different from the population mean of 75.Significance level (a)= 0.05 .

Identifying the Sample and Population:

e Population: Al stndenks n e cchoeo L
o Sample: 20 student

Extracting Information:

Population mean (u): F+ 5
Sample mean (X'): 2.5
Sample size (n): 2.0

Sample standard deviation (s):. g
Significance level (0): & .05

Writing Hypotheses:

e Null Hypothesis (Ho): M=%F5
e Alternative Hypothesis (H:): ‘/L{ #; ."15

Performing the t-Test:
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Interpreting Results:
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Example One-Sample T-Test

Scenario: A coach claims that the average height of basketball players i-adgsgwe-is 6.5 feet.
A researcher wants to test whether the average height is different. The researcher collects a
sample of 15 players and records their heights. The sample mean height is 6.7 feet, and the
sample standard deviation is 0.3 feet..The researcher then performs a one-sample t-test to
determine if the mean test score in the sample is significantly different from the population
mean.Significance level (a)= 0.05 .

Identifying the Sample and Population:

e Population: AU baslcer bl Players
e Sample: |5 playe/‘

Extracting Information:

Population mean (u): &5

Sample mean (x°): 6.

Sample size (n): |5

Sample standard deviation (s):.. 03
Significance level (a): . 3.05

Writing Hypotheses:

e Null Hypothesis (Ho): M= 65
e Alternative Hypothesis (H:): JA :,: 6'.5

Performing the t-Test:
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Example One-Sample T-Test

Scenario: Scenario: A social researcher claims that the average time people spend on social
media is 3 hours per day. However, a new survey suggests that the average might be different.
The researcher collects data from a random sample of 30 individuals and records their daily
social media usage. The sample mean usage is 3.5 hours, and the sample standard deviation

is 0.8 hours.

Identifying the Sample and Population:

e Population: Al Pe°p\e Using Soc )
e Sample: 34 Peoo\e u_s,nﬂ Saciol media

ek media

Extracting Information:

Population mean (p): 2

Sample mean (x'): 3.5

Sample size (n): 3o

Sample standard deviation (s):. O -0 3
Significance level (a): . 0 .6 §

Writing Hypotheses:

e Null Hypothesis (H): JA =3
e Alternative Hypothesis (H:): A :l: 3

Performing the t-Test:
k- z -N = 3.5-3 = 3.42
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Conclusion:
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